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3% 1@ BH
B 60% S 8 118 XK

EXE ZEER
60.0 0.000
50.0 0.145
40.0 0.000
40.0 0.000
40.0 0.000
40.0 0.090
40.0 0.090
40.0 0.090
40.0 0.090
40.0 0.090
40.0 0.090
40.0 0.180
40.0 0.180
40.0 0.180
40.0 0.234
30.0 0.000
30.0 0.000
30.0 0.000
30.0 0.098
30.0 0.098
30.0 0.098
30.0 0.088
30.0 0.185
30.0 0.254
30.0 0.254
30.0 0.254
30.0 0.254
20.0 0.000
20.0 0.000
20.0 0.000
20.0 0.000
20.0 0.000
20.0 0.181
20.0 0.1891

.0 0.

.0 0.

.0 0.
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HEIFT A FS—P&X

CREHIEE)

3 24 BH
R# 60 % 9 8
MEES 31 4 1 8 2 6 105 6 EXER E¥%
EHEES
2 00000 x|0 x|x x 6  60.0
1 00000 x x| x x 6  60.0
7 0000 O x x x x 5 50.0
4 OO0 OO % % % % 5 50.0
5 0000 x|o x x x x 5 50.0
10 OO0 x Olx x O x x 5  50.0
19 O00ONX]x x x x x 4  40.0
3 000 Olxlx x x x x 4 40.0
8 00O Olx]x x x x x 4 40.0
15 000 le X X X X X 4 40.0
6 OO0 O0O|x|x x x x x 4 40.0
12 000 Ox)x x x.x x 4 40.0
27 000 xfO'x x % x x 4 40.0
11 000 x|O x x x x x 4 40.0
14 000 x}JO x x x x x 4 40.0
9 OO0 x OO x x x x x 4 40.0
16 00 x OO x x x x x 4 40.0
34 OO0 x Olx x O x x x 4 40.0
18 OO0 O0OX]x x x x x x 3 30.0
22 OO0 Ofx x x x x x x 3 30.0
20 o0 X X X X X X X 3 30.0
17 leXe)] O x x x x X X 3 30.0
21 00 O x x x x x x 3 30.0
13 loXe) O x x x x x X 3 30.0
33 00 x O x x x x x 3 30.0
24 O O x O x x X x X 3 30.0
23 O x O x x x X x x 3 30.0
30 O x O x x X x X X 3 30.0
25 O O X X X % X X X 2 20.0
29 [e) X X %X X X % X 2 20.0
28 o] [o] N A K K K K X 2 20.0
31 olo X X X X X X X 2 20.0
26 o] x X X X X X X X 2 20.0
32 O] x X X X KGO X X 2 20.0
36 ofx X X X X X X X 1 10.0
35 of x X X X X X x X 1 10.0
37 x % X x x X x x x | 0 0.0
EXHEN 36 21 12 2 0
30 19 2 2 0
E¥® §1.3  S6.8 32.4 5.4 6.0
8l.1  SL.é 5.4 5.4 0.0
EREN 0.000 90.215 0.190 0.378 0.000
0.149  0.259 0.189 0.9¢¢« 0.000
EREH= 22 / 105.857 = 0.208
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